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int maini)
{

kool res

false;
int vy = 5;

res = 7 || (v = 0):
cout << "Result of
<< endl:;
cout <<
int a,
b

(7 11
"Value of vy:
E,
E —
++a ||
I\Ilnl
" £« res
" << a
" << b

Cr

0;
++b EE +4C;

a
res
Ccouc <<
<< " res
<< ", a
<o ",
<< ", C

0:

&& ++b
res
" g< a

" << b

|1 ++c:
" < res

< ",
<< ", C
return 0O;
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" £ o << endl:

" £ o << endl:

(v

" o< y << endl;

Jio =

0)y): ™ << res

alue of y:
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s cslSlac =—

& 4in AND

| in OR C=a&b;

N G NOT C=a|b;

A 3 XOR

<< G2 @ Qrdyib = ~ag

>> Cunl) @ b
C=a"b;
C=a<<?2
C=a>>1
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(. a0)d)) e cslaSloe =—

CCuna 1) Oybe Jwols sl b=15 g a=10 )51
C=a&Db
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(. a0)d)) e cslaSloe =—

CCuna 1) Oybe Jwols sl b=15 g a=10 )51
C=alb
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(. a0)d)) e cslaSloe =—

SCums 1) Oybe Jiols sl b=15)51 -
C=b<<2 =

i O L %mumml L %mm‘wl .

C=2*2*15=60
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s cslaSloc op)S j) el =—
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If( (n&4) '=0)
cout<<*Paper out!”;
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Logical shift

#include <iostream:>
using namespace std; L time=s 2 1= 18

20 divided by 4 iz 5

int main() {
cout << "5 time=s 2 i= " << (5 << 1) << endl
<< "Z20 divided by 4 iz " << (20 >> 2) << endl;

[will]

N s o e

s ok 2 0

7 6 5 43 2 10 7 6 5 4 3 2 1 0

0jofoj|1|j0|1j1]1 olojlo|1]lo]1]|1]1
oP»o|ojoflof1]l0|1]|1 o|lof1|o|1|(1|1|0«q0O

Logical right shift one bit Logical left shift one bit
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Arithmetic shift or sign shift

o
m o 7 2]
— wn
= d | = -
7 6 5 4 3 2 1 0 76 54 3 210
ololo|l1|lo]|1]l1]1 O'/Or/o}/l’/()'/l»/ll
olololol1lol1]1 olofl1]|o|l1|1|1]|0«q0

the operand is a signed integer
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)Lm(m omalsd (sly Ladsig) )s s)e) slad j)
S0W¢,0 oxlatw) If LA

o) ol =—

Print “Pass”

N 4—‘

If (b))  (Ol)ygiws

Jis -

Finclude <iostream>

| int main/()
{ int n,d:;

cin >>»> no»>» d:

-]

using namespace std;

cout << "Enter two positive integers: ";

i1f (n¥d) cout << n << " 1= not divisible by

" << d << endl:;

nter two positive integers: 6 4 "

s Panbp el iz not divisible by 4



1T-else

i) il =—

1f (expression)

true

Print “Failed” Print “Pass”

statementl statement2

If (bub)

else

(O l)ygtws
(O l)ygiws

$#include <iostream>
using namespace std;
] int main()
int n,d;
cout << "Enter two po=sitive integers: ";
cin >> n >> d;
if (n¥d) cout << n << "
else cout << n << "

iz not divi=sible by "

iz divis=sible by " << d <<

<< d << endl;
endl;

nter two positive integeps:

iz not divisihle hy 3

4 3



$#include <iostream>
u=sing namespace std:;
int main/()

nter an integep: 7

int n;

cout << "Enter an integer: ":;

cin >> n;

1f (n = 22) cout << n << " = 22" < endl;// LOGICRL ERRCR!

else cout << n << " !I= 22" << endl;

H

int main (| nter an integer: 77
int n; 7 = 22

cout << "Enter an integer: -

cin >>» mn;
if (nmn == 22)

else cout << n << @

}

cout << m <<

L

1

Fad

<< endl:
<< endl:
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3C aAw HIsbs (PRPeS °

int main()
int nl,n2, n3;
cout << "Enter three integers: ":
cin >»> nl >> nZ2 >> n3;
int min=nl;
if (n2 < min) min = nZ;

if (n3 < min) min = n3;
cout << "Thelr minimum 1= " << min << endl;
¥
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e 0y (Rloals o

int main({)

{f int X,¥y:

cout << "Enter two integer=s: ";

cin >» X >» Vi

if (x > v) { int temp=x; X = y; ¥ = temp; } J// swap x and vy
cout << X << " <= " g y << endl;

}

Enter two integers: 34 13

13 <= 34
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(..anb))cllin =—o

cin >> A; Enter three integeprs:
cout << "The h: "; The 1th: 12
cin >> B: The 2th: 23
cout << "The 3th: "; The Jth: 37
The Min<{C» i=
The Max<A>» 1i=s

temp; }

cin >5> C:=
if (B > A)

|- (]
-
ct
ct
i
=
o
Il
e
'y
Il
0
0
|

= temp, }

if (C > B)
{ int temp=C; C =

td

e

Lo
Il

temp; }

cout << "The Min(C) is "™ << C << endl:;
cout << "The Max(A) is " << A << endl;
}




int main()
{ int n,d;
cout << "Enter two positive integers: ":
cin »>> n >»> d;
if (d '= 0)
if (nxd == 0)
cout << d << " diwvides " << n << endl;
else
cout << d << " does not divide " << n << endl:;
else
cout << d << " does not divide " << n << endl;
}

Enter two positive integers: 22 11
11 divides 22

Enter two positive integers: 22 5

does not divide 22

Enter two positive integers: 22 B
H does not divide 22

Match each else with the last unmatched if. .
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39 9 U csopuh =—
if (a > 0) if (b > 0) ++a; else if (c > 0) L baa )
if (a <« 4) ++b; else if (b < 4) ++c; else --a;
else 1f (c < 4) --b; else --c; else a = 0;
if (a > 0) if (a = 0)

15 (b= 0) wras if (b > 0) ++a;
else .
if (c > 0) else if (c > 0)
if (a < 4) ++b; if (a < 4) ++b;
else .
Lf (b < 4) +4c; else 1f (b < 4) ++c;
else --a; else --a;
else else if (c < 4) --b;
if (c < 4) --b;
else --c;
else --c;
else a = 0; else a = 0;
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iIf-else ) —

if (expression) —— . \
P — 1f { eXpresslionl )
true — false .
== I statementl
statementl if (expression) f,_,f-*”_f elge if( exXpressionz )
true — false statement2
statement2
if(expression)
true false
else 1T ( expression(n) )
statement (n) statement(n+1) "—'vtaL'E-Tl'lent III-_I_I'I
= - F = =1 ) P Ir a "I
int main() [ else statement (n+l)]

float limit, speed, toofast: Cpeed limit: 6@
cout << "‘\nSpeed limit: ";
Cpeed: BL

ine payvabhle: 88.-. Dollars

cin »» limit:

cout << "‘\nSpeed: ";

cin >» =peed:
if ((toofast = =speed - limit)«< 10)
cout << "You were lucky!" << endl;
elze if({ toofast < 20)
cout << "Fine pavyable: 40,-. Dollars"™ << endl;
elzse if({ toofast < 30)
cout << "Fine pavable: 80,-. Dollars" << endl;
else

cout << "Hand over your driver's license!™ << endl;
return 0; PP




Conditional Operator Cs-b }JJ) )93 J PJ

((nzis @ J@EI) 6 olyos)byn Cun3 b ? \Glac —

Variable =expl ? exp2 . exp3

(O 1)oTws (shal)byn Cun3 b ? ySlac —

Expl ? dosomething 1: do something 2

Z = (a=>=0) ? a : -3a;
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$include <iostream>
using namespace std;
int main()
int m,n;
cout << "Enter two integerzs: "
cin >> m >> n;
cout << ((m<n ?7 m : n ) << " 1= the minimum." << endl:;
1

Enter two integers: 23
23 1z the minimum.
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